NVIDIA GEFORCE RTX 2080

N

Bitspower®

U U U\ M4x3255:K 8.4

M4x32mm screw
M4x322 K 1222

'A\

RNV

N

=
o — hd

DRGB

3. N/
| —
N

:00‘!\"-\’
@

)

A
e

o

.

BT IREL ELithR8 R RO DRGBYGEE
Digital RGB PIN on motherboard
or other equipment.

BB T RS E MR E A DRGB G

o738
! Ll‘,

i J
[iTry 2 Accessories B4
(1) BP-2080RD-NB3 24 (1) BP-2080RD-NB3 2 SET (1) BP-2080RD-NB3 24
@ 10 EkEmBA 10 B (2 1.0 mm Thermal Pad 10 PCS (@ 1.0=kRSHBHA 10 K
(3 25 =rEn®A 2R (3 2.5 mm Thermal Pad 2PCS @ 25=HRSHRBA 2k
@ 4% 2% @ Booster Screw 2 PCS @ M=y 2%
(5) M2.5x 6 ki 32% (® M2.5x6 mm Screw 32 PCS (B M2.5x6 EKigs 32%
® M25E8 2 @ (® M2.5Nut 2 PCS ® M25E8 24
@ 0.5 =KZEBBET 28 {E& @ 0.5 mm Washer 28 PCS @ 0.5 Z= AR IET] 28 4
M3 x 8 3K IR 4% M3 x 8 mm Screw 4 PCS M3 x 8 EEskiBL 4%

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -
& KRTREN MR ERURBRNNT - MBENOASITEN - RIS SEGFUIIRE



Bitspower’

BP-VGAB14AC-CL

BB

M2.5 128

OIQIOICIOIOIOIO

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

BP-2080RD-NB3
1.0 EXEHBR
25 EXREHBA

M2.5 x 6 2 KR4

0.5 ERERBET
M3 x 8 ERIR#

U\ M4x32Z K18 44

M4x322 KR

Aot

24
10 A
2h
2%
32%
2 @&
28 &
4%

M4x32mm screw

NVIDIA GEFORCE RTX 2080Ti

~\

BT IR E M B RIDRCBIEE
Digital RGB PIN on motherboard
or other equipment.

BRI RS E MR EAIDRCBEE

Accessories

BP-2080RD-NB3

1.0 mm Thermal Pad
2.5 mm Thermal Pad
Booster Screw

M2.5 x 6 mm Screw
M2.5 Nut

0.5 mm Washer

M3 x 8 mm Screw

@QEPO®O®®E

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -

FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE

2 SET
10 PCS
2PCS
2PCS
32 PCS
2PCS
28 PCS
4 PCS

@QEPO®O®®E

BP-2080RD-NB3
1.0 ERSRBR
25 ERERER
BEIRY

M2.5 x 6 ZKiE22
M2.5 128

0.5 2RERRLET)
M3 x 8 =KiE2

o

24
10 kR
2R
237
32%
2%
281
43



Bitspower’

ﬂ H U\ M4x3258:K18 4

M4x32mm screw
M4x32Z K 1222

BP-VGAB14AC-CL

(WSS

(1) BP-2080RD-NB3 24 @
(2 BEmEBHA 28 X (F 81 @
(G BRmEHR 2 K(Fam) ®
@ ERgH4B 4 Z(FEE) @
O e 22 X (FaE) ®
() M3 x8Exips 4% ®
@ M58 2f@ @

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.

NVIDIA GEFORCE RTX 2080Ti

4 - )
6 ‘ BREBRERERS
0 - Installation with the original backplate
BERER BRERS
é, _ B BT RS E A B RODRGBIE
Digital RGB PIN on motherboard
or other equipment.
BT REE M2 & ADRGBIE
C KERNRREERE R %R B[R
The original thermal pads on the back
L plate should be placed back to their
original position.
BRANR SRR RBERRUERD
J

Accessories
BP-2080RD-NB3 2 SET
Original Screw A 28 PCS(Not Included)
Original Backplane 2 PCS(Not Included)
Original Screw B 4 PCS(Not Included)
Original Screw C 22 PCS(Not Included)
M3 x 8 mm Screw 4 PCS
M2.5 Nut 2 PCS

2 FRERBHERNRAELURBENES - MEEHOASTEN - ERACARGURYRE -

FRTREN MR ERURBRNNT - MBENCABITEN - RIS SEGFUIIRE

O)
@
®

QIOIOIO)

BP-2080RD-NB3
[RITIBLA
RITB1R
[RITIR4B
[RIT182C

M3 x 8 R iE2
M2.5 125

(e

24
28 R (R EE)
2 R(FEHE)
4 Z(FEHE)
22 Z(RER)
41
21



Bitspower®

SANVIDIA L2
D A T

NVIDIA GEFORCE RTX 2080Ti

g;ﬂﬂ ):'I *ug;&% E’JIEEEL@FH {ﬁ% Applying The Thermal PAD And Thermal Paste On Correct Positions. ﬁ_"j‘:&@ ):'I *ﬂ%"?\;\'\'% E’JIEEQF_.‘ZFH ﬁl’_ﬁ

(] assRens (] asEReas (] eecReas
B 1 MvEzEA B 1 MvEzaA B 1 MmEsaE
[ 2.5 MmEzz s [ 2.5 MmiEszs A [] 25 MmEzz s

Before filling in the water, please make sure all the components are installed correctly.

AR - BKAT - FAEERAASHEREEERNUE L - £RREH - BRKRHERT - .
A A NSRRI - TR K T T B - 0% B K T B R P AR - To prevent any leakage which may damage the PC components, please perform a
24-hour leaking test with only the pump connected to the power supply .

A AR - BKAD - BAWIAMASHERREERNUELE - £RFEN - BFKROERT -
724/ A9BRKINE - BIRTRKEREETEN - BRAEERKNSHRBHMBMHAIRAL

V1/%—HhR



Bitspower’

it : BitspowerZE HEEERZEK - AFK - MABitspowerfIREER KL RER ; MEFBITERNKIRENERERE - KBEE KRB
A BALER KEERRAZHEZEUBRKERAEAURNZEER - HEZRTEEREERER -
RiEKE - BAMEKRER -

Notice:Bitspower recommends that consumers add the Bitspower dye to distilled water or purified water for their water-cooling liquid. If the
consumer chooses different water-cooling liquids, the resulting impurities may cause peeling of the coating on some of the hardware,
water channels blockage by built-up residue, improper operation of the water pump, water tank tube breakage, and o-rings deformation
leading to leakage. Any issues related to the use of inappropriate water-cooling liquid will be the responsibility of the consumer.

Do not turn on the pump if the reservoir is empty.
AR : Bitspower BIUHTREERAEK - 42K - MABitspowerfIRAERNKLRER ; MEFBETEMIKSRSRBERHE « KEEE - KRE
A MALER - KEERRAZHEZEUBRKEREERURAZOER - HEEBITRIEERTmRE -

REKE - BABHKRER -

R - BKED - BERIASHERREERNUEL - EAFEIW - BRAKENERT - ET24N\SHEKNE - BRBERKBEREBRAEH  BeiERKMENEMSEHAERER -
Before fill in water,please make sure all the component be installed correctly,avoidingleaking happen and destroy the PC component.

AR HKED - BRBATASHCLREERNUE L - EAFEN - BFOKROERT - #7240 NHKE - BRERKETEEAEN - BRRKERKMNSREBMBANIRL -
FRERBHERNRAELURBENES - MBEHOASITEN - ERESZARGUBYRE -

Bitspower reserves the right to change the product design and interpretations. These are subject to change without notice. Product colors and accessories are based on the actual product.
AREREN MR EXURBRNNT - MBENCABITEN - RIS SEGFUIIRE -



